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PART—A
1. Which one of the following is the 3. Which one of the following is the
synonym of the word written in capital synonym of the word written in capital
letters in the sentence, “The letters in the sentence, “She is an
FUNDAMENTAL character of an IMMACULATE soul whose presence
individual defines his entire life”? makes all the difference”?

(a} PdeuCﬁVC (a} Spoﬂess

(b) Essential
(b) Excited

(¢) Successful
(¢) Extraordinary
(d) Effective

(d) Unparalleled

2. Which one of the following is the
synonym of the word written in capital

letters in the sentence, “She has the 4. Which one of the following is the
habit of using HACKNEYED and antonym of the word written in capital
redundant examples from her past letters in the sentence, “There is a great

even while dealing with the future deal of ENMITY”?

generation”?

(a) Amity
(a) Indifferent

(b) Cooperation

(b) Imaginative

{¢) Clichéd (c) Dispute
(d) Impressive (d) Hostility
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5. Which one of the following is the 8. Which one of the following parts of the
antonym of the word written in capital sentence, “After a lot of argument I
letters in the sentence, “She was brought him forward to my point of
RELUCTANT to sell her car”? view”, has an error?

(a) Anxious (a) After a lot of argument
(b) Happy (b) 1 brought him forward
(c) Eager (¢) to my point of view

(d) No error

(d) Unwilling

9. Which one of the following parts of the
sentence, “Don’t ask him how he is
because if he starts talking about his
health you'll never get off from him”, has

6. Which one of the following is the
antonym of the word written in capital
letters in the sentence, “I cannot comply
with the QUEER regulations of your

M an error?
and”?

) s fa) Don’t ask him how he is because
(a trange

(b) if he starts talking about his health

(b) Nimble you’ll never
(c) Everyday (c) get off from him
(d) Customary (d) No error

10. Which one of the following words can be
used as a substitute for the phrase,
“A nursery where children of working
parents are cared for while their parents
are at work”?

7. Which one of the following parts of
the sentence, “As you know that the
ignorant are easily duped”, has an
error?

(@) As you know (a) Sculler

(b) that the ignorant (b) Créche
(c) are easily duped (¢) Dormitory
(d) No error (d) Refectory

GRS-A-TNS/68-A 3 [ P10


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

11. Which one of the following words can be
used as a substitute for the phrase,
“That which cannot be taken by force”?

(a) Impossible
(b) Improbable
(c) Impeccable

(d) Impregnable

12. Which one of the following is the
appropriate question tag in the
sentence, “Take a seat, i

(a) shall you?
(b) can’t you?
(c) won’t you?

(d) would you?

13. Which one of the following is the
appropriate question tag in the
sentence, “Anyone can make mistakes,

”?

(a) isn’t it?

(b) shall they?

(c) can’t they?

(d is it?
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14. Which one of the following phrasal verbs
may be used in the blank space in the
sentence, “He is fond of art and seems

(suited) to be an artist”?

(a) fit out
(b) bring out
(c) cut out

(d) suit out

15. Which one of the following phrasal verbs
may be used in the blank space in the
sentence, “We were happy in the
beginning, but now all the troubles have
___ (appeared)”? ‘

(a) cropped up
(b) come about
(c) come out

(d) rushed in

16. Which one of the following phrasal verbs
may be used in the blank space in the
sentence, “No one knows howitall
(happened)”?

(a) came across
(b) came about
(c) came into

(d) came forward
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17. Which one of the following phrasal verbs 19. Which one of the following can be used as
may be used in the blank space in the a substitute for the words written in
sentence, “I have to (finish) this capital letters in the sentence, “There
work before I leave tomorrow morning”? is no meaning to CRY OVER THE

SPILT MILK since the matter is over”?

(a) clear up
(a) No use of worrying about

(b) clean up
(b) No use of spilling now

(c) finish up
(c) No use of celebration

d) d ith
. ) RS (d) No use of asking for

18. Which one of the following prepositions 20. Which one of the following can be used

may be used in the blank space in the as a substitute for the words written

sentence, “He lived a hand mouth ool Niaiea Yin the senteiice
existence, SUTEIRAS on RS CTASEE “Serving the sufferers is true YEOMAN’S
AT SERVICE”?

(@) in (a) A risky job

(b) to (b) An amusing job

(c) for (c) An excellent work

(d) inside {(d) An unwanted job

GRS-A-TNS/68-A 5 [ BT O
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PART—B
21. Who is the author of the work, The 24. What were the peasant associations set
Evolution of Provincial Finance in British up in Kerala in the 1930s called?
India : A Study in the Provincial
Decentralization of Imperial Finance? (@) Kisan Sabha
(a) Dadabhai Naoroji (b) Kirti Kisan
(b) Dr. B. R. Ambedkar (¢) Karshaka Sangam
(¢) M. N. Roy (d) Kisan Morcha

(d) Jawaharlal Nehru

25. Why did the Congress declare 9th May to

22. In the context of international affairs, be Ethiopia Day™?
which one of the following is correct

bk Tond G (a) Because the Ethiopians declared

their support for the cause of

(a) He advocated a paciﬁst po]jcy_ Indian 'mdependence from British ‘
rule.
() He wanted to establish a British
sphere of influence over the Persian (b) Because Ethiopia became
Gulf and Seistan. independent from Britain on that
day.

(¢) He wanted England and Russia to

become friends against China. (¢) Because Ethiopia was attacked by
Italy in early 1936 and their
resistance was considered freedom
struggle.

(d) He wanted to lead a flag-waving
mission to the USA.

(d) Because Ethiopian leaders

23. Which one of the following is correct derBuncdl Mussolini

about Assam in British India?

(a) It was a part of the North-East

Frontier Agency. 26. Who set up the Bharat Stree
Mahamandal which first met in
(b) It was made a province in 1865. Allahabad in 19107
(c) It was separated from Bengal in (@) Annie Besant
1874, and along with Sylhet .
made into a Chief Commissioner’s (b) Meherbai Tata
province.

(c) Saraladevi Chaudhurani
(d) It was a Princely State ruled by

Ahom kings. (d) Tarabai Shinde

GRS-A-TNS/68-A 6
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21. R g o WRATE wEle @ BRW 24, 1030 % <wm § a § wifn T @ @

§fear : 31 weht 3 7 wilake SRzemeH
7% FEAfareT BI3id % aE® P 87

(@) TTETHTE RS

(b) Bio o Mo T
(c) THo To A

(d) SETEETS AEE

22. EA AWl & ded H, @i @A $ an A

Frafafaa § & # -1 T T8 87
(@) 363 wifeard ifd =1 gemmedT )

(b) F& BRE 6l @l 3R Hram w fafew
-85 T T =TEar o |

(c) d® = % favg, Foie IR w6 # fim
T =R

(d) 98 USA & fou & a9 wievE fimm
(werm-afam fiem) @1 Age wE STEd
o

23. fafew fem =< & o/ & N § Fafafaa §

¥ FH-91 T Gl 87

(@) T gateR Hmia it (Aid-Sfe Hem
TSl T U T o)

(b) 1865 & T Wid o1 gsil feam T o)

(c) 1874 T 34 &mel | 1@ o man 3R
foerge 91 39 W o &1 g
i 41 o T

(d) T IR TSNS g I U SEf TS
o7|
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(@) oM @
(b) i foram
(c) & €W
(d) e q=l

25. 9 7§ & o7 & *E 3 s Raw’

Hift feman?

(@) wife srfEEiE 3 fafew w4
ARAE waAal & 98 H 394 gHeA 6
Hyyor ot

(b) Hifh s 36 fm frem @ wda gan
o7 |

(c) i 1936 & AR & g2eh I sREIRE
R Ay T o1 3R 3% Ry =
Taaal o fore gud 5y ™ o

(d) HEifs A &% @ 3 gafed
Tomar <t oft)

26. YR & #emesd, fSoh ggeht sm 1910 #

TaRER § 9% g8 off, i W R f
ofi?

(@) TH A

(b) WS

(c) wraeel Sherey
(d) g
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27. Which one of the following is not a 31. Which of the following was/were the

feature of the Non-Cooperation
Movement?

(a) Economic boycott was intense and
successful.

(b) The middle class participated in
very large numbers in the
movement.

(c) It was marked by uneven
geographical spread and regional
variations.

(d) Along with Non-Cooperation, other
Gandhian social reform movements
like the anti-liquor campaign
achieved some success.

reason/reasons for the lack of economic
development in India in the 19th
century?

1. Officially the British Government
was committed to a policy of
laissez-faire, but it was actually
a policy of discriminatory inter-
vention,

2. European entrepreneurs had
connections to banks and agency
houses, while Indians had to rely
on kin, family and caste men.

3. When plantations were transferred

to individual capitalist ownership,

28. Which one of the following publications native imvestors were deliveratsly

was started by Khan Abdul Ghaffar ignoed, i
Khan in 1928?

(a) Pakhtun

(b) Khudai Khidmatgar
(c) Young India

(d) India Awakens

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 and 3 only

29. Who among the following was the

founder of the Arya Mahila Samaj in the () 1 and 3 only

early 1880s?
: 3 (@ 1,2 and 3
(a) Swami Dayananda Saraswati
(b) Swami Vivekananda
(c) Pandita Ramabai

(d) Ramabai Ranade

32. Which social reformer’s autobiography,
entitled Looking Back, describes his
experiences in setting up schools for

30. Who among the following is considered women in Poona in the 1890s?

to be the first Indian to go to jail in
performance of his duty as a journalist?

(@) Mahatma Gandhi
(b) Rabindranath Tagore
(c) Lokmanya Tilak

(a) Dhondo Keshav Karve
(b) K. T. Telang
(c) Jyotirac Phule

(d) Surendranath Banerjee (d) Dr. B. R. Ambedkar

GRS-A-TNS/68-A 8
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27. fafafas § 4 F9-0) & o e 31. 19df &l #§, wra # enfds fowm & A F

HiereH 6 & 27 foe F=fafaa § @ FF-w1/8 Fro Hear
(a) 3T afeshr i 9 w5t o1 1/37
(b) T ¥iEeH # wgd <) ded # neaw 1. anfeefes dr w fafew wwEr sreEqdy
J v fern 6 e ¥ auEg oft, feeg ara § 9z
@ b iR R s d e R L AL
fafaeran, sl gea fasivar of) 2. g ufiE F gev 9F o
i s L o F Y ¥, FEh IRAE H e,
. rﬁzﬂamﬁw&wu?axg:ﬁm;ag SR S 56 R e e
et s, A R Fo awea e o
3. V& SETHI %1 Hawr AfETa dSdid
28. @F ¥F®A TIER WH FR G 1928 1§ wifirea # T man, @@ Rfig Pt 6
frafafad § A SA-w1 1 TEEE s B SR Jaa A T
T AqTY
) = f&g MY e w1 FE@ AR wE W gAY
(b) e faawnaTr (@) Fa 1
c) 7 §fear
;C:} b i3 (b) Faa 2 AR 3
(c) FaH 1 3R 3
29. 1880 % Tuh & RN ¥ 4 ufgen wHE 6l
(@) TETH TR T
(b) Tl fqawma
(c) e W 32. fou was Gureh Y eRwn, R widE
P — G % B, 1890 % T H YA A Afgenadl
14 3 for Rreerit 1 T Y T A
% o) § Fard 87
30. 3 ¥ T2 Y@ vgen wrdw W WA ®,
ﬁ:m%wﬁmwwﬁgqéam (@ 4 ¥
LAk
(@) WRTCHT e (b) o o AT
b) T AR
;c)} it (c) NfRE Fa
(d) s &St (d) fo dio Ao IEISAX
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33. Who was the first Director General of the
Archaeological Survey of India?

(a) John Marshall
(b) Alexander Cunningham
(¢) Mortimer Wheeler

(d) Francis Buchanan

34. Which of the following works was not
contributed by the famous social
reformer Begum Rokeya?

(a) Ardhangi
(b) Griha
(c) Mother India

(@) Sultana’s Dream

35. Which one of the following is not a
characteristic of the Mughal chronicles?

(a) They present a  continuous
chronological record of events.

(b) They were a repository of factual
information about the Mughals.

(c) They allow us to understand how
imperial ideologies were created
and disseminated.

(d) They contain brief biographies of
the authors of the chronicles.

GRS-A-TNS/68-A
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36. Which one of the following statements
regarding an Overseas Citizen of India
(OCI) is not correct?

fa) An OCI is a citizen of another
country.

(b) An OCI possesses multiple-entry
long-term visa for visiting India.

(¢) An OCI is at par with NRIs in all
matters.

(d) An OCI is not entitled to the
fundamental right to equality of
opportunity in public employment.

37. Which one of the following is not a
feature of the Aadhaar (Targeted
Delivery of Financial and other
Subsidies, Benefits and Services) Act,
20167

(@) Only citizens of India are entitled
for enrolment under this Act.

(b) Both demographic and biometric
information is to be submitted for
enrolment.

(c¢) The Unique Identification Authority
of India is responsible for
enrolment and authentication
under this Act.

(d) 1t is the responsibility of the Unique
Identification Authority to ensure
the security of identity of
individuals.

38. Forced labour or beggar is a violation of
which one of the following Articles of the
Constitution of India?

(a) Article 16
(b) Article 17
(c) Article 19
(d) Article 23
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33. W QA GA40T & YW HEIRys HE 97 36. F=fafad & & #9-w1 wom v vt yd
AR (OCI) % =R & ¥el =&t 87

(a) 9 AEA
(@) T OCI et gat 3w =1 e an 21
(b) FFAFHS FHFTEH () TH OCI ¥ U Wia 3T ¥ foru wshifireh
(c) TR e i AT
C
(c) TH OCI Gt AmHedi § NRI % «U« gral
(d) SiTE FHEA 2
(d) TH OCI GrEsiHeh UK H g Hi
TaH % Hiferes AR #1 gHER A€
34, Ffafa 3 @ -9 Ffa wig 9= games 2
T ek 6 T RY
(@) i 37. fefafas 4 ¥ #=9-#1 w favwa enuw
(foxfra 3R o= 3uerHl, ensdfi dun J=sdt =
(b) TE Aftra fereron) sAfdf=m, 2016 6 7@t §7
. (a) %9 WRA & AURE €@ 3@ AfufEy &
5 PR q&d AT % ThIR o
(@) Geary g (b) T *® T TR T Shafid,
21 gaad o g B
(c) %8 A % T8d T Td yHmfie
B, Y W 8 s e S A Ry st e e
3fergfe <t = &7 2
(@) T TS H UH Had HIAGHED (d) =afedi 6 veaT i guan ghfea s
sAfirera weqa form R Taftre e Wit &1 el R
b) A G F AR H qATHF THFR & GIE
”gfmﬁ 38. 9N YW HYSl 9N, WG & WAYH &
frafafad § § FR-7 g=ag #1 femqo 87
€ T T 98 W9 T © 5w (@ ¥R 16
feramemd. frm @ @ 3 3R ywiia
T o (b) TF=dR 17
(@) w@ sRafE % daw B wfm afar 4 S
9 i 2| (d) <3 23
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39. Which one of the following statements
regarding the Constituent Assembly of
India is not correct?

(@) The Constituent Assembly was

(b)

(c)

(d)

composed of members who had
been elected indirectly by the
Members of the Provincial
Legislative Assembly.

The Constituent Assembly held its
first sitting on 9th December, 1946.

The seats in each province were
distributed among the three main
communities—Muslim, Sikh and
General, in proportion to their
respective populations.

The method of selection in the case
of representatives of Indian States
was to be determined by the
Governor-General of India.

40. Which one of the following is not a
constitutional body?

(@)
(b)
(c)
(d)

The Election Commission of India
The Finance Commission
The Official Languages Commission

The National Commission for
Women

41. Which one of the following is not a
feature of monopolistic competition?

(@)

(b)

(c)

(d)

Large number of buyers and sellers
in the market

Differentiated products constitute
the market

Product in the market is
homogeneous

Selling costs are used for sale
promotion

GRS-A-TNS/68-A
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42. Social cost is higher than economic cost
because

(a) society is bigger than economy

(b) society includes polity, while
economy does not include it

(c) cost borne by bystanders is positive

(d) society includes both consumers
and producers

43. Cesson coal at ¥ 100 per ton is a type of
(a) carbon tax
(b) carbon subsidy
(c) carbon incentive for technology

(d) carbon incentive for selling carbon
permit

44. Core inflation is different from headline
inflation because the former

(a) ignores articles of volatile nature in
the price index

(b) considers articles of volatile nature
in the price index

(c) is not based on commodity price
index

(d) considers only core items of
consumption in the price index

45. Who among the following is the author of
the book, Choice of Techniques?

(a) A. K. Sen

(b) K. N. Raj

(¢) V. K. R. V. Rao

(d) Sukhamoy Chakravarty
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39, WA F1 GEau™ 991 % Hey # Fr=afafas 4 @ 42. % @rE | go § G e i

-1 TF w9 el TE 87

(@) GfEUH T H I IR Q5= ™= 9,
St wida faum @ % wewl g svay
wy § fyaifad gu 21

(b) wfaum w1 # ugel FIF o fwwm,
1946 = EIfSTd = ) off |

(c) Y% Wid H # dF g wgEEi—

BIeft B | 391 HRv 98 © 6
(@) TSI, AHaE A W9l ?

(b) WIS W Ug-aey wfiifea ®, s&fE
S | 98 wiiifera T8l &

(c) <H (ARe=d) T 98 B wh arE
T Bl &

(d) WS # IJFIET R 3e9esk, Qi
qftfera 8 8

gfeem, fag it gmm 8, 9 -

ST AT F A H A 7 off | 43. FEA W € 100 W A F1 39 Frefafad #

(d) ¥Rd F TsE ¥ ufefilReE % ame d =9 9 foraes sr=ala aman 27
i fafy wra % mE-se g Puita (@) FTEA-F
R (b) R

(c) TEfEh F fag weq deares
40. Frafafed # @ #w-w ws wifamfre fem T (d) e Wi 6 i F R FE e

77

(a) ¥ & Fates smEm 44. T (FR) GRERIR, T (RSels) GRS |

i %, =ifr 7@ gaehifa

(b) Tor FmEm (a) @ qEFE § AER wwY H T
(c) TTATT ST BRI
(b) A gIEH § ARR wey f g
(d) g wfEEn s = Wik o 2
(c) Tra Hrma gushis W snuia 76 ad R
wyf R 7?7 aegal @1 @ aftifea s @
(@ R A @ieer] R d=-arEl i =<
e 45. T § B Tiew % AT JEH B AG@H
27
(b) Tadifeq searEl | oK s @ (@) To Fo
(c) TSR H I1E FHATE Bl B (b) o To TS
(@) T wads ¥ R fed wmmt #1 W () o Fo 3o o T
o s @ (d) GEHI Shadi
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46. Which one of the following bodies has
formulated the ‘National Student
Startup Policy’, launched by the
President of India in November 20167

49. Panchayats (Extension to the Scheduled
Areas) Act, 1996 permits self-
governance of natural resources by

(@) Gram Sabha

(@) UGC (b) Gram Panchayat

(b} NCERT (c) the Chairman of Gram Panchayat

(c) AIU (d) forest dwellers of .a vil]a:ge situa.ted
in the areas mentioned in the Fifth

(d) AICTE Schedule of the Constitution of

India

47. Who among the following was the 50. Which one of the following countries is

Chairman of the Working Group for
determining the methodology for

not a member of WTO?

construction of Producer Price Index () Japan

(PPI) in India (2014)? (b) China

(a) Saumitra Chaudhury (c) Iran .
(d) Russia

(b)) D. V. Subbarao

(c) Abhijit Sen 51. A StandUp enterprise can be established

in
(d) B. N. Goldar
1. farming sector
2. manufacturing sector
48. Which one of the following schemes is Sositiiiio-atsian
aimed at all-round development of .
adolescent girls in the age group of 4. trading sector

11-18 years and making them self-

reliant? Select the correct answer using the code
given below.
(@) RGSEAG
(a) 1, 2 and 4 y
b) IGMSY
& (b) 1,3 and 4
S (¢ 1,2 and 3
(d) RMK (d) 2,3 and 4
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46. Fr=fafga Freml § 3 B o 3 e wEe 49, Ugma (EEfa & w1 fawan)  erfufm,

wréa uiferdi’ daw 6 2, F@ vrd & ugdfa 1996 # WHfas HEEEl *® @-AlwmE 6
I TR 2016 § @9 B mn? argafa ol < it 27
(@) UGC (a) A EMI
(b) T q=EA
(b)) NCERT

(¢) T YA H UUH

(c) AIU
(d) wRa % wfaym 6t wiEdl g A
(d) AICTE 3fpRaa &= o féra freht mifg & e
_ 50. F=fafad & & FF-91 3w WTO =1 v 7l
47. ¥R § I9EH o4 gIHs (PPI) (2014) 4R 37
3 ¥ o el Puifa w0 9 s '
T HLAY TH F FH 917 (@) STH
(a) dftm < (b) =
(b) Slo dlo FeaAE LAl
(d) &4
(c) fisia 9
(@) o o TMerRR 51. Th WY IUH Hel w1 fFa1 T Heha R7
1. T &
2. faffmio &z
48. Ty=fafag § 4 frw whig =1 g 11-18 =¥ 3. ¥91 &9
rg-ant 1 TRl o wadga faehe e
v 3 oerF T 87 el
= few 7T F2 1 wE R wE SW g
(@) RGSEAG
(@ 1,234
(b) IGMSY B L aele
(c/) NMEW , (¢ 1,233
(d) RMK (d) 2,334
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52. Who among the following were conferred 54. Startup Hubs are agreed to be set up in

with Rajiv Gandhi Khel Ratna Award for

the year 2016? 1. ITs

1. Jitu Rai 2. IISERs

2. Dipa Karmakar 3. NITs

8. P. V. Sindhu 4. Central Universities
4. Sakshi Malik

Select the correct answer using the code
given below.

(@ 2 and 3 only
(b) 2, 3 and 4 only
() 1 and 4 only

{d) 1,2, 3 and 4

53. ISRO in August 2016 successfully test

launched Supersonic Combustion
Ramjet (Scramjet) Engine. Which of the
following statements with regard to
Scramjet Engine is/are correct?

1. It can efficiently operate both
in subsonic and supersonic
combustor modes,

2. India is the first country to
demonstrate the flight testing of a
Scramjet Engine.

Select the correct answer using the code
given below.

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 1 and 4 only
(¢) 3 and 4 only

(d 1,3 and 4

55. StandUp India Programme envisages

each bank branch to give loan between
¥ 10 lakh to ¥ 100 lakh

1. to at least one SC/ST borrower
2. to at least one woman borrower
3. to at least one rural unemployed

youth borrower

Select the correct answer using the code
given below.

(@) 1 only
(a) 1 only
(b) 2 only (b) 2 and 3
(c) Both 1 and 2 fc) 1 and 3
(d) Neither 1 nor 2 (d) 1 and 2

GRS-A-TNS/68-A
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52. ¥ 2016 ¥ fou wofta Mt A w1 geEER T 54. WIEHY §9 &I $a W Wifd =3 F gay o

4 T faenfedt < vem fomn o an? weafa g 87
1. g 1. ITs
2. &9 FER 2. IISERs
3. o dfle fiiy 3. NITs
4, wsht nfee 4. FEm fqafrmey
= fo T Fe R wd W g ™ Ry T 2 1 W W wd@ s gh
(a) a2 3R 3 (@ 1,2 3R 3
(b) %9 2, 3 3N 4 (b) e 1 9K 4
Fae 1 3R
© Sk (c) *aa 3 i 4
(d 1,2, 334
(d) 1, 334

53. ISRO I R4 2016 # quwfs <81 Woe
(ThHSIZ) §9F 1 TheraTgas T R o 55. W ewm wdEW, wSE % W@ g

W 39 % gey § fefafes @ [ 10 9@ ¥ ¥ 100 @@ 9F H F
FH-91/8 HUF GE B/87 Frafafaa # @ el for 9 w fmm s
1. @ st (G iR Tt &7

(guiiss) 2F ged-a9  gefadt # 1. #H-Y-%9 T SC/ST R

ERGRPCEREHRCAE T (RC T b R R S—
2. vrd e S 9 % SeM giam i | 8

o = A § 3. FH-Y-FHH TH THV SISEIR ga1 o

T T S R oy T e F wE = wd I g
(@ a1 (@) a9 1
(b) ¥ 2 (b) 23R 3
(c) 1 3R 23H ) 133
(d Fd 1T 2 (d 13R2
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56. In case of gold, revenue is recognized in
the accounting period in which the gold

15

(a)
(b)
(c)
(d)

delivered
sold
mined

identified to be mined

57. As per the traditional approach, the
expense to be matched with revenue is
based on

(a)
(b)
(c)
(d)

original cost
opportunity cost
replacement cost
cash cost

58. Preliminary expenses are the examples of

(@)
(b)
()
(@)

59. Depreciation of fixed assets is

capital expenditure
capital gain
deferred revenue expenditure

revenue expenditure/expense

an

example of

(@)
(b)
(c)
(d)

deferred revenue expenditure
capital expenditure
capital gain

revenue expenditure/expense

60. In the context of accounting, the term
IFRS stands for

(@)

(b)

(c)
(d)

International Financial Reporting
Standards

Indian
Standards

Indian Financial Reporting System

Financial Reporting

International Financial Reporting
System

GRS-A-TNS/68-A
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61.

From the

information given below,

calculate the sum insurable :

(a)
(b)
(c)
(d)

Date of fire—01.03.2016

Turnover from 01.03.2015 to
29.02.2016—F 88,00,000

Agreed GP ratio—20%

clause
increase of

Special circumstances
provided for the
turnover by 10%

¥ 19,36,000

¥ 48,40,000

¢ 10,32,000

¥ 24,20,000

62. Income and Expenditure Account is

(@)
(b)
()
(@)

Real Account
Personal Account
Nominal Account

Capital Account

63. Legacies are generally

(@)

(b)
(c)
(@)

capitalized and taken to Balance
Sheet

treated as income

treated as expenditure

capitalized and taken to Suspense
Account

GET IT ON
Google Play
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56

57

58.

59.

60.

i F Id ¥, 39 @ Efy § e H)
A 4 Wil &, fad

(@) @@ ) ggarht & St B

(b) Tl i fashl @ et 2

(c) Ui %1 @A o foran sman @

(d) @ % e w@ol ) gg=m = S 2

e eIl % STIER, TSRE F WY T &
forees emur W gafea T s 27

(a) & STA

(b) TasFeq @rTa
(c) WfcEemaa ST
(d) TG AT

RieE @ fRaeR amw g7
(a) ST =

(b) sirTa @

(c) el s =
(d) TrE =g/@s

vt ufgefoal o1 goagm fras Iamem 27
(@) STRATTE TS/ =09

(b) YT =

(c) YSirTa e

(d) TSE = /Es

@ % "eY #, ug IFRS fraen udis 87
(@) FeCTFE FEAREd Raifén 2egd
(b) 3fe wrgifEe Rdifén Segd

(c) 3T wgifime fifén Ren

(d) $EEHE gt Rafén Rren
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61. = § Tft g | < iy it orn Aifsng

M I F1 F—01.03.2016

T 01.03.2015 & 29.02.2016 TF Fel
feshi—e 88,00,000

HeHd GP AH1d—20%

FRER W F 10% F e F fou Iqesy
ooy witfeufa =rd

(a) ¥ 19,36,000
(b) € 48,40,000
(c) € 10,32,000

(d) ¥ 24,20,000

62. Y 3R =qg w@ =1 Bl &7

(@) B9 <@l
(b) FfHE T@
(c) E-=F wEl
(d) Iefia S

63. TEIA HIURVEI]

(@) Ysfigra gt & qen g # off St @
(b) 3@ F w9 AE A #
(c) =4 F &9 F A e &

(@) dSfiwa Bl & qen 3= a@n 3 o o @

[P.T.O.
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64. The abnormal loss on consignment is 67. Branch Account under Debtors System is
credited to
{(a) Real Account
{a) Profit and Loss Account

(b) Consignee’s Account (b) Personal Account

(c) Consignment Account (c¢) Nominal Account

(d) Income and Expenditure Account (@) Linbility Account

65. When goods are purchased for the Joint

Venture, the amount is debited to 68. The cost of electric power should be
apportioned over different departments
(a) Purchase Account according to

(b) Joint Venture Account (a) horsepower of motors

(c) Venturer’s Capital Account
(b) mumber of light points

(d) Profit and Loss Account

(c) horsepower multiplied by machine
hours

66. Consider the following information :
(d) machine hours
Rate of gross profit—25% on

cost of goods sold

Sales—¥¢ 20,00,000
69. Under which Schedule of the Companies
Which one of the following is the Act, 2013, the formats of financial
amount of gross profit? statements are prescribed?

(a) ¥ 5,00,000 (@) Schedule I
a 2 ]

(b) ¥ 6,25,000 (b) Schedule II

(¢c) ¥ 3,75,000 (c) Schedule III

(d) 4,00,000 (d) Schedule IV

GRS-A-TNS/68-A 20
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64. TV (9 §U HIE) W @MW v fhe o | 67. =ofl Jureht % Sfera wmar dar @

iz &t STt 27
(@) w14 3R B @ R,
(b) RS 1 S (b) TR o
(c) T TREl (c) AE-q9 &l
(@) 3T T = T (d) a1 SE
65. @ HY® ITW & T aegy wldl s &, 7@
uftr forg @ & A Y I 27 68. fRE-vts H wrm faftm vl § fres
i st IgER guTfsig i s =g ?
(b) ¥ S SR
(c) Rt dsiira < (b) webTHl forgalt i dem
(@) = TR FH T (c) <R 1 A R
66. Tfufad gam W fo=m Hifsg - bk
e @1 I G— = T8 aegA h
TG W 25%
69. o1 sTfufEm, 2013 & BFa o=l & siaria
fesfi—¢ 20,00,000 Torefa Tt % wom Faffa frg sm 87

Hhe o o Tt FrefoRad 3 | - R0

(@) IR 1
(@) ¥ 5,00,000

(b) SN 11
(b) ¥ 6,25,000
() ¥ 3,75,000 (c) N 101
(d) ¥ 4,00,000 (d) FAFE IV
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70. In the absence of any provision in the 73. Which one of the following is an
partnership agreement, profits and exception from the five functional types
losses are shared by the partners of unionism identified by Robert Hoxie?
(@ in the ratio of the capital of (a) Business Unionism

partners
b) Predatory Unionism
(b) equally ®) o

(c) in the ratio of loans given by them (g Revomtionnry Unionism

to th tnership fi
Sl el (d) Evolutionary Unionism

(d) in the ratio of the initial capital
introduced by the partners

74. Which one of the following is the process
in which representatives of workmen

71. Works Committee, Safety Committee and and employer involved in an industrial
Canteen Management Committee are dispute are brought together before a
the examples of third person or group of persons who

g R . facilitates/facilitate through mediation
{aj workers barticipation o to reach a mutually satisfactory
management

agreement?

(b) workers’ education schemes : .
(a) Arbitration

(c) workers’ cooperatives

(b) Adjudication
(d) workers’ suggestion schemes

(c) Conciliation

72. Which one of the following is not part of (d) Collective negotiation
the aims and purposes of the ILO as per
Philadelphia Declaration?

75. Questions relating to the application or

a) Labour is not a commodity. . A «
(@) v interpretation of a standing order

(b) Freedom of expression and of certified under -the Industrial
association  are essential to Employment (Standing Orders) Act,
sustained progress. 1946 may be referred to

{c) Poverty anywhere constitutes (a) Industrial Tribunal

danger to prosperity everywhere.

(b) Labour Commissioner
(d) The war against want requires to be

carried on with unrelenting vigour (c) Labour Court

within each nation and is solely the

responsibility of the government. (d) Industrial Employment Court
GRS-A-TNS/68-A 22
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70. WEEH TR F FE gEyE 7 89 f Ry 1§ 73. e gt g fufea Hoae & ofe weges

HIEER] g oy R Bl S s ¥ yaRt § ¥ Fefafas 4 @ F¥9-w1 @ svaEe
?
(@) |THERI g F g § 3
(@) R GoaETE
(b) -
(c) T g wrEied v A Ry 7w ¥ = W
S A (c) i Toam
(d) @Rl g e i R §sh % (d) TaHTEam ta
g A

71. P wh, o wRR ok B i%m""é"amﬁﬁ‘ﬂ“ﬁx? ;‘:ﬁ;@;ﬁﬁ'ﬁ

Ty Pt s §1 fri % SRERA B w5 dR e @
(@) YEEA H FEORT 6 qrferd Hfedl F W F GUN TH 9 T S 2
3t T WUl ¥ FU A TER G
(b) HHTRI H e FeEn wEAfy W a7
(c) IR h wewrl wfifa (@) wIETEY
(d) FIR F g A (b) =l
(c) H &
72. Treef@rm dwon & ogur, Freafafes & @
-7 TH ILO F wed IR R B ww (d) WrIfe =
&t 87
() T F aeg T R 75. defis e (vl emw) sifdfeas, 1946
. . . % i genfya Rt TRl sw % s
(b) @iyaRs i waaa R ¥9 & @ 1 Frde @ St s o R Ry dre
wad fawm 7y tfEd g el =
() fordt oft T @ e, ® & WE ® (@ e s

qrEdl % e @au R

(@) T F Raars s % fow 97 smaws R LG
ToF g g % 37 TEd i I @
wel 9, st 5 oft ' ¥ WER #
arfeg B (d) Nafies FEsH =

(c) =W AT
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76. A union whose membership may cover
workers employed in many industries,
employment and crafts is known as

(a) industrial union
(b) general union
(c) craft union

(d) region-cum-industry level union

77. Which one of the following perspectives
of industrial relations is based on the
assumption that both the parties strive
(and have opportunity) to exercise
economic (wages and benefits) as well as
political (control) power?

(a) Pluralistic perspective
(b) Unitary perspective
(c) Radical perspective

(d) Trusteeship perspective

78. The provision of workers’ participation in
management of industries is provided
under

(a) Article 39A of the Constitution of
India

(b) Article 43A of the Constitution of
India

(c) Article 42 of the Constitution of
India

(d) Article 43B of the Constitution of
India

GRS-A-TNS/68-A
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79. Which one of the following is not a trade
union security measure?

(a) Closed shop system
(b) Agency shop system
(c) Open shop system

(d) Union shop system

80. Which one of the following is statutory
machinery functioning at the central
level?

(a) Central Implementation and
Evaluation Committee

(b) Central Board for Workers’
Education

(c) Standing Labour Committee

(d) Employee’s State Insurance
Corporation

81. Which one of the following explains the
‘citizen concept’ of labour?

(a) Labour is largely regarded by
the employers as operating
organizations in industry.

(b) Labour is affected by the law of
demand and supply.

(¢) Labour has a right to be consulted
in regard to the terms and
conditions under which they are
supposed to work.

(d) Labour is a cog in the machine.
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76. A TH F R FE 0@ ¢ e wewma  aga 79. Fefafes & @ FF-01 w5, o 99 wan

I, TR i fireusit § sd w=@ 9@ HI9Ee E /7
HIPTRI 1 wiyer 3 siman &7

(@) EE-9TEE TABT Womeft
(@) NS 9

(b) Tea-yo wfos™ yomed
(b) W EH

(c) wEHH URisH JUTe

(d) wu-gmidd wfqsm yomed)
(d) =F-H8-3am wWig ¥y

80. FET TR W A HW 9N HilgF @

77. At gl w1 Frefifaa § @ $9-w1 Trfafaa & 9 #m-ar 27

ey 39 e T W oy ? f 3F &

T e (gt oM o) ofr wiy & @iy

. it (Faaw) i & fog v =@ #
(3R T UTH TR B )7

(a) wgarel gftien

(@) F=14 foraraaa 3 e winfa
(b) FEr i fen 9
(c) <rit ufiw wfafy

(b) TEHTCHS qREy (d) FHIM TS o e

(c) A uftadaTdl afde

81. #fis Hi e Hhew f=faRes & ¥
(d) =i qRE forer g AT B 27

(@) Jam # FEwme g gt # gera:
78. M % yad § FIPTR Y geefen w1 396y IRETEH el % 9 H gHeE S )
foraeh at=mia fean e 27

(b) WM 3R gfd * fagra @ 4fte wfa

(a) ¥RA % GEUH 1 g8 39A
(b) ¥Rd % GfUH 1 =T 43A
(c) WRA % WAL F1 Tgea 42

(d) W@ % Gfa"H &1 31798 43B
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(c) 4t H a7 Avwr 2 F fm FEw
3R vl & 3faria IW FW F R, Fh
Hay ¥ 399 Wyl fopan sy

(d) =t 9 § v geii B

8 6 3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaRin

82. Who among the following can be 85. Dr. Aykroyd’s formula is associated with
appointed as the Chairman of the determination of
Central Advisory Board constituted by .
the Central Government under the (@] fairwage
Minimum Wages Act, 1948? (b) minimum wage
(a) One of the independent members of (c) living wage
the Board

d 1
(b) One of the employers’ represen- (d) real wage

tatives of the Board

(c) One of the employees’ represen- 86. “Everyone as a member of the society

tatives of the Board has the right to social security, and is
entitled to realization through national
efforts and international cooperation
and in accordance with the organization

(d) A functionary of the Central
Government nominated by the

Government and resources of each state of economic,

social and cultural rights indispensable

83. Which one of the following comes under for his dignity and free development of

the ‘State List’ under the Seventh his personality.” This statement which
Schedule of the Constitution of India? is emphasizing the importance of social 3

security has been expressed in which of
(@) Relief of the disabled and the following?

unemployable 4
(a) Universal Declaration of Human

(b) Regulation of labour and safety in Rights

mines

() Regulation —— contil of (b) Philadelphia Declaration of the ILO

manufacture, supply and (c) Report of the First National
distribution of salt Commission on Labour
(d) Social  security and  social (d) Directive Principles of State Policy

insurance of the Indian Constitution

84. The assumption that “man is selfish and
self-centered, and always tries to
achieve his own ends even at the cost of
others” explains which theory of labour

welfare? (a) the Employees’ State Insurance

87. For the first time in India, medical benefit
as a non-cash benefit was provided
under

(a) Placating theory Act, 1948

(b) Police theory (b) the Factories Act, 1948

(c) Religious theory (c) the Maternity Benefit Act, 1961
(d) Philanthropic theory (d) the Mines Act, 1952
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82. =ad "agh wfuftm, 1948 F siwia F=

TR A Gy FE GdReER 98 F
yoy F ¥ § Fefafaa 7 @ 5 s fen
T g1 87

(@ =S % P weadl d @ 98 w

(b) W€ F FEwER % ufaFRE § 8 ®iE
T

(c) % F wd=rfEl % wfRe 4 4 w2
T

(d) THR g FAHG FE @WHR H T
EHIPEA

83. WRd & ufaym # wodl g F wid

g g # e awn frg FrefRea § R
-1 87

(a) a3 RIS 1 wEmE

(b) TEH # i AR gram w1 fafmea

(c) T9Fk % Ieqrad, AYfd AR fawo @
T T A

(d) |THISTER GRaT SR QTS S

84. Jg gEyron 5 “mgw weff o w-FEA R,

i ggf o & 98 gl 1 Fima o g
o Tl @ QU HA B I a1y A
e % T fsia 6t s w27

(@) T g (wiHfen @A)
(b) e ferera

(c) i frgr

(d) @rEmEd fagm

GRS-A-TNS/68A
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85. sfo Iie &1 G foras Fuftr & we&u @

86.

27

() 3fea weh
(b) =g WG
(c) Frate weigh
(a) =Teafash wed

‘OO ¥ UF Ge ¥ ®Y H yAE AR F
TR GUET 1 STUFR &, 3R To&F U9 &
TEET TE WA % SR qdl UEE WA
3 AU gean & WA W, 3R HAfhed
¥ wad fagm iR e Am-male & o
e enfdfes, wmie R wREfow
Afteerl it Wi % 98 FHAR | WIS
PWH F AEW K 9 oA de T§ HAA
FreferRaa o ¥ fared stfireaws o man 7

(@) wHa AfREER 6 Gy S
(b) 1LO i Tremefetran don
(c) TUT A 7 2 i Rard

(d) wra % afaum § vy & Hifa & fews
T

87. M-TE @M ¥ &9 # Tafren v, wwa A

gl 9 fores Aarta wem foran man?
(@) HHar Tsa oft arfufEm, 1948
(b) Wl sfufEm, 1948

(c) wEfd wgfawn sfafEm, 1961
(d) @ fafy, 1952

[P.T.O.
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88. Which one of the following is the correct

set of contingencies identified by
William Beveridge in his comprehensive
social security scheme?

(@) Want, disease, ignorance, squalor
and idleness

(b) Want, sickness, disability, squalor
and idleness

(c) Want, disease, old age, squalor and
unemployment

(d) Disease, invalidity, old age,
unemployment and ignorance

89. Which one of the following statements is

not correct for Atal Pension Yojana?

(a) There is guaranteed minimum
monthly pension for the
subscribers ranging between
¥ 1,000 and ¥ 5,000 per month.

(b) The benefit of minimum pension
would be guaranteed by the
Government of India.

{c) Government of India co-contributes
50% of the subscriber’s contri-
bution or ¥ 1,000 per annum,
whichever is lower.

(d) 1t is applicable to all citizens of
India aged above 40 years.

90. Which one of the following is the amount

of annual premium of the Pradhan
Mantri Suraksha Bima Yojana (PMSBY)
for accident and disability cover up to
¥ 2,00,000?

(@ 100
(b) ¥ 50
() 20
(d) 12
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Directions :

The following two (2) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement 1

(c) StatementlI is true but Statement II
is false

(d) Statement I is false but Statement
II is true D

91. Statement I :

The force on Moon due to Earth is the
action, while the force on Earth due to
Moon is the reaction.

Statement II :

To every action, there is an equal and
opposite reaction.

92. Statement [ :

It is 2 common observation that if we
place a glass of ice-water on a table at
room temperature, the ice-water will
get warmer.

Statement II :

Heat is energy that flows between a
system and its environment because of
temperature difference between them.
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88. faferm =afts gr1 & it 37h = A
U A1 F Sita v Ry T s
=1 o1 |el wye Frefataa § | SH-a 27

(@) 31¥E, U7, sl et it ffsam

(b) &vE, rdl, omwear, Tem iR
Ffshaa

(c) H¥E, M, FETaeT, Tl IR SRASF

(d) T, FEmdqdl, FEEEA, ST R
st

89, 3T UYIM AN F ey § Frefafaa § @
P~ T F4F el T8l 27

(a) TaF fEmEE H € 1,000 ¥ € 5,000
Wit 718 T T =Fan Hife T iR
|

(b) AR UIH FH AN WG GHR G
TR 8|

(c) WRG SR AREET F e H 50%
@ € 1,000 ufg a6, s oft 0 R, #
ITWEH H |

(d) I8 40 99 ¥ s Y F KA & qsfl
Elucafedciugd

90. Ul 3N 3IWHAl =g € 2,00,000 TF F
wEn & fau yumel g S A
(PMSBY) & affes swr-frea 1 afy
Frafafea & @ $9-d &7

(@ 100
(b) €50
(€ 20
d €12
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frfafaa & (2) vt & @ wuF &, w1 3k

FHYF 11 T IF1 HUAT 1 GragEgEs wheor Fifsg i

= fg 7T %2 F W@ W T W g
w2

(@) 3T FIA FH-IAAT T &, IR FoF 1
1 HE T HYA 11 §

(b) ! FUA -3 FA &, Frg T
1 & TSR FUe 11 TE R

(c) 918 B, firg o 11 216 B

(dj U 1 3790 &, foheg %94 11 64 8

91, FUYTI :
geeft ¥ HROT SEA W R AT o AT R,
Safh <EH % HRU gLl W oA dren o9
wfefsean ®1
HYT 11 :
ya& forar ) © suer R fomdia wfafsman
Bt B
92. HUTI :
T8 TH GHY Ead € 6 ARk e ow
firema feneiel © 39 WM F a9H | @
3, o femsre oo B s
YA 11
T TR S e W TH YOnell 3R 39S
TRl & 9 yaTfed gidl 8 i 3% o

A9 1 3R Bar 2|
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93. Which one of the following materials

is

not diamagnetic at Standard

Temperature and Pressure (STP)?

(@)
(b)
(c)
(d)

Nitrogen
Sodium chloride
Water

Iron

94, Which one of the following gases has the
highest solubility in water?

(@)
(b)
(c)
(d)

Chlorine
Ammonia
Carbon dioxide

Nitrogen

95. Bleaching powder contains

(@)
(b)
(©)
(@)

96. What

nitrogen
iodine
chlorine

bromine

is the —causal agent of

Chikungunya?

(a) Non-chlorophyllous bacterium

(b) Nematode

(c) Virus

(d) Fungus

GRS-A-TNS/68-A
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97. Bio-remediation is a technology which is
being extensively utilized in controlling

(a) global warming
(b) melting of glaciers
(c) ozone depletion

(d) heavy metal pollutions

98. Beauty of some historical monuments is
greatly affected by the growth of certain
living organisms. These living organisms
belong to which one of the following
groups?

(@) Amphibious plants
(b) Lichens
(c) Bacteria d

(d) Viruses

99, Which one of the following has the
characteristics of both an animal as well
as a plant?

(a) Fern

(b) Moss

(c) Earthworm
(d) Euglena

100. In order to save the stored food grains

from insects, farmers usually mix with
them

(a) Neem leaves
(b) Mango leaves
(c) Peepal leaves

(d) Orange leaves
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93. AF% @9 M & (STP) W Tr=fafaa # @
FH-91 T Ficgaehg garef & 87

(@) ARGSH

(b) WfETH FefrEE
(c) HHI

(d) el

94. Tt & I=an faegar areh fa, Frefaflsa 4 @
FH-4l 37

(@) A
(b) T
(c) T SRITHATES
(d) S

95. foats oof & w1 S 27
(a) T
(b) FEEH
(c) FEHA
(d) wHH

96. TuEHTRET %1 HRUTCHS FHH =1 77
(@) FA-FARIFeE Siar]
(b) GIH
(c) famy

(d) HaH
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97. AATARTIH & T 2| @ aFAF T a2

Y | 39 fFas o & fog e s @
2

(a) ST AT
(b) Tewal = feemn
(c) A JaLd
(d) W Ty HgE

98. ¥ et Wl ) gewl, $o afe shdl

#1 ghg & FRO 9ga wfad & W R Wi
S Frfefea § @ frg o & Hdy @@ §7

(a) STy qeg
(b) W (TEHA)
(c) Sftamy
() fermy

99. f=faflaa # & fred & wig & Wy-91Y =

e ) st Rdwand #7
(@)

(b) TG

(c) g

(d)

100. ¥ETRd @WrRmE! &I $i § q=9r w@q vy e

WTE: 3% WY 41 Ty 3 #7
(@ W%
(b) M F T
(c) Hud & T
(d) €T T
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101. CD-ROM is a 105. Which one of the following is hardware?

(a) secondary memory (a) Power point

(b) Control unit
(b) magnetic memory ;
(c) Printer driver

(c) memory register (d) Operating system

(d) semiconductor memory
106. Two vehicles which are 100 km apart
are running towards each other in a

102. WAP stands for straight line. In how much time will they
meet each other provided they follow a
(a) Wireless Addition Protocol uniform speed of 45 km per hour and

80 km per hour respectively?
(b) Wireless Automation Protocol '
(a) 60 minutes

(c) Wireless Adaption Protocol (b) 55 minutes

(d) Wireless Application Protocol (c) 48 minutes
(d) 45 minutes

103. Bl hnol
B Rictaoit sinology aliows 107. The price of an article is increased by

(a) sending of files within the range of 20%. Further, there is a tax of 5% on

10 km the increment., If the article costs

¥ 1,331 to the customer, then what was

(b) sending an e-mail the price of the article before the
increase in price?

(c) wireless connection between

various devices/equipments over (@ € 1,000
short distances (b) ¥ 1,064
(d) downloading of movies from () ¥ 1,100
Internet (d) ¥ 1,200

108. A cricket bat is purchased at 20%
discount. If the selling price of the bat is
¥ 1,000, what was the original price of

104. Which one among the following is not a
basic function of a computer?

(a) Accept and process data the bat? ;
(@ ¥ 1,100

(b) Store data (b) 1,200

(c) Scan text () 1,225 J

(d) Accept input (d) ¥ 1,250
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101. CD-ROM &1 &7
(@) Tkl AR
(b) Rufesm Al
(c) IR TR
(d) FfiFea FHIR

102. WAP T e dan &7
(@) FEREE TfeTH W
(b) IR HATEHIA THle
(c) dHETCTH TS Sieiehiet
(d) SR TAIHEH W2

103, g -1 JEY L B
(@) 10 km 6 91 § g H WS F
(b) F-TEA ASH

() B i@l | W@ gy fafm == /Igel
% e SR | B

(@) TR A T SRS T W

104, Frafafed & § FF-w1 & FFgR 1 0@ 0
BRI

(@) HAfHe (27) FHR FEAT AR T8 FHAT
(b) BT TR FHI

(c) TFZ THA FHAT

(d) FYE WHR F
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105. F=fdfad & 9 $=-a1 & sEam 87
(@) TSR A2
(b) Fge gfe
() T gra
(d) rfEn fywm

106. 3 aTed, 5% == A gt 100 km , TH-TW
#i 3R T Aeft @ H S @ B I g\
T YgEd A TRam wwE e, AR 9 s
45km w1 w21 3R 80 km Wi W& i
THIAH =1 § 9 @ 87

(@) 60 fime
(b) 55 fie
(c) 48 fime
(d) 45 T

107. el =g 1 3@ 20% =@ T B TWH AfifH,
T & 96 W 5% Il 1 9f uew &
oA axg &1 @ra € 1,331 2, @ @9 1§ gfg |
UES aEg 1 T T 917

(@ € 1,000
(b) € 1,064
() € 1,100
(d € 1,200

108. T fFehe 92 20% fewrre W wla w2 af
¥z %1 fashu-wew ® 1,000 B, @ W 9 W
RN Hqod F1 o417
(@ € 1,100
(b) 1,200
(c) €1,225
(d) € 1,250
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109. Which one of the following diagrams is 112. In a city, 80% population eat rice and
most appropriate to the statement, 90% of the rice eaters are non-
“Tea-producing places are either in vegetarians. Then what percent of the
Assam or in Bengal”? population are vegetarian rice eaters?

(@) 72
(c) 9

) <> (d) 10

113. Two vehicles A and B travel with uniform
(c) (“"“) speed 30 km per hour and 60 km per
— hour respectively in the same direction.

They start at the same time and from
() CD the same place for a distance of 120 km.
The faster vehicle B reaches the

destination and travels back with the
same speed. Assume that the loss of

110. Suppose, the remainder obtained while time to change the direction is
dividing x by 61 is 2. What is the negligible. If x is the distance travelled
remainder obtained while dividing x’ by the slower vehicle A before the two
by 617 vehicles cross each other, then x is

a) 70 km
@ 2 (@)
(b) 75 km
(b) 4 (c) 80 km
d) 90 km
o (d)
(d 6 114. The price of a bottle of cold drink is ¥ 10.

One bottle of cold drink can also be
bought by returning 10 empty bottles.
A person has ¥ 1,000 and 19 empty
bottles. Assuming that the person can
consume any number of bottles he
buys, what will be the number of empty

111. What is the maximal number of spherical
balls of radius 1 cm each that can be
placed inside a cubical box of height

10 com? bottles he possesses at the end if he
(@ 25 buys maximum number of bottles of
& cold drink and consumes all?
(b) 125 (@ O
(b) 1
250
(c) © 2
(d) 1000 (d 3
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109,

‘S IeqTemE TH AT ) 39y § § o9y ane 1)
8 Y & fore F=fefaa & @ fF-a1 sma
waifies 3UgH 87

m |
g D

o [ D

110. A7 v fF x # 61 @ fawlm 3 ®

%A 2 TH Bl 8l x7 B 61 ¥ Tl
FE R ATHA 41 BT

(@) 2
(b) 4
fc)

(d 6

111. 10 cm 39T & & 949 & & A Wi S

w1 B, stel weds e i B 1 em ®7

(@) 25
(b) 125
(¢) 250

(d) 1000
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112. ot st § 80% A= =Ew @l & 3R

9ad @ 9el 3 ¥ 90% HiEEd 8| =6
@M arelt TETREl AETd 1w e 27
(@) 72
(b) 8
() 9
(d 10

113. B 961 A 3K B Th & fexn # %H9: 30 km

gfe 521 $R 60 km Wit w1 H THEHE T
AR I EE T RIE & WE Y
120 km # gt & fog fsfend &1 o9 =l
1A 918 B AT T Igaa1 ¢ AR I =9 9
g @ed @ ¥ 7F el B T seen
H g arell g9 Sl gH FoE R Ak S
ATEA! E TH-gE ) U1 A A qEa o =en
I 9Ted A R @@ B TR g x B, @ x #
aH 8

(@) 70 km

(b) 75 km

(c) 80 km

(d) 90 km

114. %ics fgF 6t & saa A Fma & 10 B

10 @reft daal @ e o wiee fgg R
TF didd @l S w81 T ARG % U
1,000 3R 19 @reh didet &1 HH it 6
e e fFd off g@n d 39 Saal #1396
W gEdl ¢ T8 397 @ler &, a1 39 ® SR
arell @rell Siael 6 98 e 1 w2 S 39
=fth g1 ftes @ fte diaet @led 3R 3
Feeh! IYNIT H & T8 IHh qE T+ &Y

(@ O
(b) 1
(c) 2
(d) 3
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115. If the radius of the new spherical 118. Consider the following figure :
container is double the radius of the old
spherical container, then the ratio of the
volume of the new container and the
volume of the old container is

:

Object Mirror (Plane)

@ 231

Which one of the following is the image
(b) 4:1 of the object in the mirror?
(c) 8 :1 (a) <—,—<
(d) 2m: 1

e

116. A container is filled with 300 litres of (c) >_l—)

hydrogen gas. The first day it loses
100 litres of hydrogen gas and everyday
it loses one-third of the volume it lost in (d) (—‘_(

the previous day. Then the container

(a) loses entire hydrogen gas in 3 days 119. Three persons A, Band Crun a business
together and their shares are 17%, 37%

(b) loses entire hydrogen gas in and 46% respectively. Any profit they
10 days earn is distributed according to the

proportion of their shares. If the

(c) loses 150 lires of hydrogeiins difference of the profits of B and A on

p a given date is ¥ 1,000, what is the
(d) possesses at least 150 litres of profit of C on that day?
hydrogen gas on 100th day (@ € 2,300
(b) ¥ 2,350
117. The area of the smallest circle which flm ¢ 2,980
contains a square of area 4 cm? inside (d) ¥ 4,600

is
120. The circumference of a circle is 2n cm.

(a) mem? Then the area of a square inscribed in
the circle is

(b) 2n cm? (@) gcm2
b) 1cm?

(c) 3m cm? ()
(c) 2mcm?

(d) 4n cm? (d) 2 em?
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115. 3R TF 74 MR =t A B @ e 118. = fig mu Warfm w fmm Hifg
e 1 o A M R, AR e H

A R TN fes % rrEd %1 g B >—|__) E

(@ 2:1
T YT (GHacT)
(b)) 4:1

) 8:1 Tdr § aeg 1 wfafer fre § @ Fe-m 37

(d 2n:1 (@)

(b)
116. TF f&=d § 300 forex =EEem g s . R

yuH &9 399 @ 100 R wEgiem w6l
Bl W1l ® 3R yee e s | gdadi o @l
T HHA F UH-fIEE AEaH N JHEEH B
s 31 | feufa & (d)

(@) o= 3 7 & vt egeem i @) &

(c)

e

119. @9 =ARF A, B 3R C & 99 e

f (b) f&sam 10 T & wrd) wsgiom v @) &m FRER da@ &, Sad e feem wA:
17%, 37% 3R 46% & | FRIGR ¥ HaE1 747
(c) Te=m 10 fm # 150 foret eragom T @ 1§ off T 3 e ¥ o ¥ orgEn wt
m S 31 AR foe e e R B B ik A F
(@ fea & 10038 R #9-3-79 150 o S SR € 1,000 &, @ 3 R C W
TR g oY fopae &7
(@ ¥ 2,300
(b) ¥ 2,350
117. G99 B2 36 Iu H1 &hel 591 20, e it (c) ¥ 2,450
4cm2&"ﬁ’ﬁfﬂﬂ@aﬁﬂmﬁﬁ%? (d) T 4,600
(@) mecm? 120. TF g9 H WY 2nem B 99 F o ifEa
(3TehIEeg) T F1 ATFA ¢
(b) 21 cm? (@ gcmz
\ (c) 3m cm? (b) 1cm?
(c) 2mcm?
d
(d) 4mncm? (d 2 cm?
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Wa dh Ul T8 U Yiere Wie @ 7 el W a9 9 7 @i

... : GRS-A-TNS TieTur gieaent STgsA
wH qE
1005508 OreruT gﬁa;[ A
T ARIAT qeron ‘
uug ;9 uve quifes : 100
FFIM

1. wlen W B % G |IE, 39 39 uderr gierm i ugare sava o o 76 sad wd Ren o, wer @ gz
F3 UB A1 WAV e w1 AR T ¥, @ 39 W wdwor g @ wee ol

2. Fuar e W % OMR Iw-use #, 3R w0 ®, e =) 3R vl gices sigsw A, B, C a1 D &,

o A v o e g o R & wm ol geag ww & R soflgan & 3 R o g
v /faEnfa 6 el § sm-ww Frea = R smam) v

3. 3@ wam g | @y # oy T wiwE F GE W STEETE
foram 21 wlem gfeem w ok Fo 7 fod )

4. 39 gl gfEm § 120 sew (3w) @ wet § g €  we-A ok wm-B ) Wi-B # e weai Rl s
3irft BT F o ¥ ) vEE WA § =R e (3W) fu e #) 5§ O g g o, @ e 3w w
FE IR €1 IR uen T o T o A it T g §, @ 36 U H 2ifRa wt S ey wEen o | e
T % T e v # W g R

5. E) g ot IR e ¥ Ru T Iw-ww | @ oifvd e B sw-wsw # Ry g fdw )

6. ol Wl F 3w gHE |

7. 360 vea 5 2y yleor g F Riftm weil F ST SW-uE W ifed FE TE w, ST SN TH-ua F Wy
E Rl F ogER FO HEwm Im-wE § | R

8. 39 IO Tft UgE B I-Th W F AR aYT T F A W Hae IW-UAD FHiE Hl H9 | SFGR! 39
w1y e giEe & S A srgEfa R

9, F= W ¥ fau v whewr gfeen % o A gem

10. TeE I & fee gque .

TgE WeA-TEt # Iefigan g Ry T e swt & forg gve Rar s

(1)mm%mw&mﬁmm%lWWWW%WWW@WW%WW%@WW
MY 3] I Teh-TaRTs qU8 *F WY H FEl Wwm|

(ii) I+ Snfiar TF A AfF IW a1}, N W TEW IW A W, T Y T I F | uF W EEh A
TR ot 38 w9 & fog Segehiger € st @ w1 gvs e S|

(iti) 7f% Iftear g0 w v A R S @ svuiq Infiean g Iw A R s ®, @ 39w & fow g que
&t T smam|

Wa qeh U 9§ Theror YiEest Gie @l T HEl W a« 9% 7 @rel

Note : English version of the instructions is printed on the front cover of this Booklet.
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